I3 3 = X9

2025/1/13 FEI0EEBARI =710 VX EFE
AfR-BiRk-CH#k-DIR ST 9:00~ 9:15
SZTI08 VR 9:15~ 10:00
TLoaz=7-ILoadrAIL-yasr R 9:15~ 10:30
DAZTI0E VR =T AR BIRR AU A —F 10:30~ 12:00
C#k-DIRRA A —R 14:30~ 15:00

w HIGHERCREIIEERICRDIEEAHYET . HARGITHRY 554 LT —T )L TIHEREZSL

\

o

gtNo| BEZI | BEFR FRk A IR R |wses| HE | UPHE

9:45 REEE - Fz7/\—VY2iHRBAGH)

1 | 950 | JDL JDSF D#REEL HEIR S C-R 4 1 4

2 | 9554 | JCL JDSF CHREEL HEIR S:C-R 6 1 6

3 | 10:00 | JBL JDSF B#REKL HEIR S S:C-R-P| 10 1 6

4 | 1008 | JAL JDSF AfREEL HEIR S S-C-R-P-J| 10 1 6

5 | 10:18 | JDL JDSF D#REEL RS C:R 4 1| Bz

6 | 10:23 | JCL JDSF CHREEL RS S:C-R 6 1| Bz

7 | 10:30 | JBL JDSF B#REKL RS SC-R-P| 6 1| Bz

8 | 10:39 | JAL JDSF AfREEL R S-C-R-P-J| 6 1| Bz

9 | 1050 [ XST VZTF108 VR 1RFE  |SC-RPJ[ 27 3 18

10 | 11:17 | FSL yasg RIL R J 9 1 6
11:19 ITURER

11 [ 11:29 | FJL TLoa=7L RS S-R 3 1 3

12 | 11:33 | FVL TLoadFAIL R c-J 5 1 5

13 [ 11:37 | FJL TLoa=7L RIS S'R 3 1| NEfz

14 | 11:41 | FVL TLoadFAIL R c-J 5 1| MERL
11:45 KBV T AFTER)

15 | 11:47 | FSL YESAURIL R J 6 1| NEfz

16 | 11:49 | XST VZTF108 VR 1TRFE  |WT-V-F-Qf 27 3 18

17 | 12:16 | FJS JLPa=7s RS (A% 3 1 3
12:20 KBV T AFTER)

18 | 12:21 | FSS yaS RIS R Q 7 1 6

19 | 12:23 | JBS JDSF B#kES 1TRFE W-T-F 37 3 24

20 | 12:39 [ FJS JLPa=7s R (1A% 3 1| MEGL
12:44 KBV T AFTER)

21 | 12:45 | FSS YEAURTS R Q 6 1| Bz
12:47 TLoa=7-TLoadFML-Vyad o R TRER

22 | 1257 | RAS L=FIVARS 1TRFE W-F 15 2 10

23 | 13:04 | JAS JDSF A#RESS 1TRFE W-T-F-Q| 37 3 24
13:26 AZ1TH




mtNo| BEZI | BRFR ks & IR R |wses| HE | UPHE
24 | 13:46 [ MAS =7 IAES 1TRFE W-T-F 22 2 12
25 | 13:57 | XJT $1=F105 2R R S:C-R-P-J[ 9 1 6
26 | 14:07 | RAS L=TFIVARS R W-F 10 1 6
27 | 14:11 | GAS =7 IMARS RN T F 9 1 6
28 | 14:15 [ MAS =7 IARS R W-T-F 12 1 6
29 | 14:21 | XST VZTF108 VR 2RFE  |W-T-v-F-Q| 18 2 12
30 | 14:38 | RAS L=FNVAKS R W-F 6 1| NEfz
31 | 14:42 | GAS L=FIMAKS R T-F 6 1| NEfz
32 | 14:46 | MAS =7 DAS RIS W-T-F 6 1| NEfz
33 | 14:52 | XJT $1=F105 2R RN W-T-V-F-Q| 9 1 6
15:02 DAZTI10F VAR RIEE - VT HRRAIV T —FRER
34 [ 15:12 | XST VZTF108 VR 2RFE  |[S-C-R-P-J| 18 2 12
35 | 15:29 | JDS JDSF D#REkS HEIR W-F 4 1 4
36 | 15:33 [ JCS JDSF C#kE5S 1TRFE W-T-F 16 2 12
37 | 15:44 | JBS JDSF B#kES 2R FiE W:-T-F-Q| 24 2 12
38 | 15:58 | JAS JDSF A#KESS 2RFE  |W-T-V-F-Q| 24 2 12
39 | 16:15 | XST ZF108 VR HEIR S S-C-R-P-J| 12 1 6
40 | 16:25 | JCS JDSF C#RHES HEIR W-T-F 12 1 6
41 [ 16:31 | XJT Pa=F1058 VR R W-T-v-F-Q| 6 1| Bz
16:41 7N
42 | 16:51 | XST ZF108 VR HEIR W-T-v-F-Q| 12 1 6
43 [ 17.00 | JBS JDSF B#kEES RS W-T-F-Q| 12 1 6
44 [ 17.07 | JAS JDSF AfKHEES HEIR W-T-v-F-Q| 12 1 6
45 [ 17:16 | XST ZF108 VR R W-T-v-F-Q| 6 1| Bz
46 | 17:27| JDS JDSF D#REkS RS W-F 4 1| Bz
47 [ 17:32 | JcCS JDSF C#RHES RS W-T-F 6 1| Bz
48 | 17:39 | JBS JDSF B#kEES R W-T-F-Q| 6 1| Bz
49 | 17:48 | JAS JDSF AfKHEES R W-T-v-F-Q| 6 1| Bz
50 | 17:59 | XJT Pa=T7105 X RIS S:C-R-P-J[ 6 1| MEfZ
51 [ 18:10 [ XST VZTF108 VR RIS S:C+R-P-J[ 6 1| NEfz
18:21 FF—F R0 R BHE) - REVF—FRFRERX
18:41 EIE




